Extra Practice 4

	Lesson 1.4: Estimating Square Roots

1.
Use the number line below.

a)
Which placements are good estimates of the square roots? 
Explain your reasoning.

b)
Use the number line to estimate the value of each square root 
that is incorrectly placed.

[image: image1.wmf]15


2.
a)
Which two consecutive numbers is each square root between? How do you know?

b)
Use guess and check to estimate the value of each square root to two decimal places.


i)


[image: image73.jpg]



ii)


iii)

[image: image3.wmf]110


iv)

[image: image4.wmf]41


3.
Is each statement true or false? Explain.

a)
 EQ \r(19) is between 18 and 20.

b)
 EQ \r(101) is greater than 10.

c)
 EQ \r(5 + 10) is less than  EQ \r(5) + 
[image: image5.wmf]10

.

d)
 EQ \r(3) (  EQ \r(8) is less than 
[image: image6.wmf]36

.

e)
 EQ \r(12) +  EQ \r(10) is less than  EQ \r(32) – 
[image: image7.wmf]10

.

f)
 EQ \r(1) +  EQ \r(1) +  EQ \r(1) is equal to 
[image: image8.wmf]3

.

4.
Chess is played on a square board.
A particular board has an area of about 3250 cm2.
What are the approximate dimensions of the board to two decimal places?
5.
A farmer has 600 m of fencing. 
He wants to enclose a square field of area 24 200 m2. 
What are the approximate dimensions of the field?
Give your answer to one decimal place.
Does the farmer have enough fencing to enclose the field? Explain.




Extra Practice Sample Answers

Extra Practice 4 – Master 1.27

Lesson 1.4

1.
a)

[image: image9.wmf]27

: 27 is a bit more than 25 and 
[image: image10.wmf]25

 = 5

[image: image11.wmf]49

: 
[image: image12.wmf]49

 = 7

[image: image13.wmf]62

: 62 is a bit less than 64 and 
[image: image14.wmf]64

 = 8


b)

[image: image15.wmf]35

: 35 is a bit less than 36 and 
[image: image16.wmf]36

 = 6, 
so 
[image: image17.wmf]35

 is about 5.9.

[image: image18.wmf]56

: 56 is a about halfway between 49 and 64. 
[image: image19.wmf]49

 = 7 and 
[image: image20.wmf]64

 = 8, so 
[image: image21.wmf]56

 is about 7.5

2.
a)
i)
15 is between 9 and 16, so 
[image: image22.wmf]15

 is between 
[image: image23.wmf]9

 = 3 and 
[image: image24.wmf]16

 = 4, but closer to 4.



ii)
72 is about halfway between 64 and 81, so 
[image: image25.wmf]72

 is about halfway between 

[image: image26.wmf]64

 = 8 and 
[image: image27.wmf]81

 = 9.


iii)
110 is about halfway between 100 and 121, so 
[image: image28.wmf]110

 is about halfway between 
[image: image29.wmf]100

 = 10 and 
[image: image30.wmf]121

 = 11.



iv)
41 is about halfway between 36 and 49, so 
[image: image31.wmf]41

 is about halfway between 

[image: image32.wmf]36

 = 6 and 
[image: image33.wmf]49

 = 7.


b)
i)
3.87
ii)
8.49
iii)
10.49
iv)
6.40

3.
a)
False; 19 is between 16 and 25, so 
[image: image34.wmf]19

 is between 
[image: image35.wmf]16

 = 4 and 
[image: image36.wmf]25

 = 5.


b)
True; 10 × 10 = 100, which is less than 101

c)
True; 
[image: image37.wmf]10

5

+

 = 
[image: image38.wmf]15

, which is a little less 
than 
[image: image39.wmf]16

 = 4. 
[image: image40.wmf]5

 is greater than 
[image: image41.wmf]4

 = 2 
and 
[image: image42.wmf]10

 is greater than 
[image: image43.wmf]9

 = 3. 
So, 
[image: image44.wmf]5

 + 
[image: image45.wmf]10

 is greater than 2 + 3 = 5.

d)
True; 
[image: image46.wmf]3

 is less than 
[image: image47.wmf]4

 = 2 and 
[image: image48.wmf]8

 is less than 
[image: image49.wmf]9

 = 3. So, 
[image: image50.wmf]3

 × 
[image: image51.wmf]8

 is less than 
2 × 3 = 6. 
[image: image52.wmf]36

 = 6


e)
False; 
[image: image53.wmf]12

 is greater than 
[image: image54.wmf]9

 = 3 
and 
[image: image55.wmf]10

 is greater than 
[image: image56.wmf]9

 = 3. 
So, 
[image: image57.wmf]12

 + 
[image: image58.wmf]10

 is greater than 3 + 3 = 6. 

[image: image59.wmf]32

 is less than 
[image: image60.wmf]36

 = 6, so 
[image: image61.wmf]32

 – 
[image: image62.wmf]10

 is less than 6 – 3 = 3.

f)
False; 
[image: image63.wmf]1

 = 1, and 
[image: image64.wmf]1

 + 
[image: image65.wmf]1

 + 
[image: image66.wmf]1

 = 3. 

[image: image67.wmf]3

 is less than 
[image: image68.wmf]4

 = 2. 
So, 
[image: image69.wmf]1

 + 
[image: image70.wmf]1

 + 
[image: image71.wmf]1

 is greater than 
[image: image72.wmf]3

.

4.
About 57.01 cm by 57.01 cm
5.
About 155.6 m by 155.6 m
No. The perimeter of the field is: 
4 × 155.6 m = 622.4 m
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